LEERHEER LIESBaKtER
I BEHEEE EAR EERGHEEEHAER 48 (£207)

21€0~01£0-.0€0~90£0-8010~9010: =W

AL
Y

e 0 s R 3 34k

N
—

o e IR 3+ 36+ 26 -

-4.9

~23.2 ——

-401

« 450

MITFEE-0106~0108-0306~0307-0310~0312

]
e B
S40)
(w3
=
47
000000
(=
LA02
a1
e - a H ) DS N0 Y S
% Q140 ® Y !.ﬁﬁ- — — ey = @’9“43 N 2 SRS N R EE WP, 0160 =7
-26.7 . . R HR O 6 -w- ;. U Q14K 65 © N SRS 1 0I &) Ak89 —96.7
> W N —
S S S ()

@
o

-4.9

8y dzdhlIfT

CowE = R DR C, AR ETOBFHMEEATHRLELOTHE,
O 190 200 300 40 50 . 1.000m B ENAbI NS BB A, B LHER EORZEEEINEEE,

LN ER 48

FOF R R EH 2 D

S+
—r

8



